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QUESTION 1

Refer to the exhibit. 

A Fileshare resource has faulted and is failing over to the second node in the cluster. Which resource should the
administrator expect to come online first on the failover node? 

A. The lowest child resource is brought online first. 

B. The lowest parent resource is brought online first. 

C. The highest child resource is brought online first. 

D. The highest parent resource is brought online first. 

Correct Answer: A 

 

QUESTION 2

Refer to the service group configuration displayed below. 

group SG1 ( SystemList = {sys1, sys2 } AutoStartList = {sys1} SysDownPolicy ={AutoDisableNoOffline} ) 

What happens to service group SG1 when the system is down or is detected as down? 

A. The service group will remain autodisabled. 

B. The service group will remain autodisabled and offline. 

C. The service group will remain autodisabled and online. 

D. The service group will remain autodisabled and evacuate to another node. 

Correct Answer: A 
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QUESTION 3

Which two options are correct for expanding a 1GB striped volume with two columns to a 2GB volume? (Select two.) 

A. add 4 256MB disks to the disk group and expand the volume using the max-size option 

B. add 4 512MB disks to the disk group and expand the volume using the max-size option 

C. add 2 512MB disks to the disk group and expand the volume using the max-size option 

D. add 2 1GB disks to the disk group and expand the volume using the max-size option 

E. add 1 1GB disk to the disk group and expand the volume using the max-size option 

Correct Answer: AC 

 

QUESTION 4

Where will the root broker be installed in a two node secure Veritas Cluster Server (VCS) configuration? 

A. stable system outside the cluster 

B. each system in the cluster 

C. first system in the cluster 

D. second system in the cluster 

Correct Answer: B 

 

QUESTION 5

An administrator notices that a disk in a disk group is tagged as Foreign. In which disk group is the Foreign disk
located? 

A. Dynamic disk group 

B. Private disk group 

C. Unknown disk group 

D. Basic disk group 

Correct Answer: C 
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